(s)inthe space provided!

Write the missing number

—
700 + 10 * 1= 711600 +20+ 8 = 628
100 + 40 + 8 = 148300 +50 + 3 =.353

Write the missing number(s) int
N
_ 1000 + 300 * 10+ 6 = 1316 4000 + 200 + 50 + 1=4250
| 7000 + 800 * 40+ 9 =7849 5000 + 800 + g0+ 8= 5888
| <>
|
|'

6000+300+30+6=

4000"'900"’80"‘1'—' @
6000*‘900*00“'9: @

2000+400+50+5=
»"

Place val

per(s)in the sp
N/
7000 + 100 + 10+ 1= 7111

[
|| (g000+200+20+67 8226 | 5000 +900* 50 + 9 = 5999
[ >
- 5000+800+90+4= -

Write the missing num ace provided!

2000 + 400 * 60 + 3 = 2463

5000 + 700+ 40 + 8 =
i D =4953

7 s

e values ¢

atis the value of the number indicated?
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